

الف $y^3 - 2x^3 = 2x - 1 \quad y^3 = 2x^3 + 2x - 1 \xrightarrow{x_1 = 2x^3} y_1^3 = y_1^3 \rightarrow y_1 = y_1^{\frac{1}{3}}$

ج $\frac{x+y}{x} = \sqrt{2y} \quad \frac{x^2 + y^2 + 2xy}{x} = 2y \quad x^2 + y^2 + 2xy - 2xy = 0 \quad x^2 - 2xy + y^2 = 0$

$x = y \rightarrow y = x$

د $xy^2 + 2x - y^3 - 2y = 0 \quad y^3 + 2y - 2xy^2 - 2x = 0 \quad y(y^2 + 2) - 2x(y^2 + 2) = 0 \quad y = 2x$

$|x-1| \geq 2 \quad x-1 \geq 2 \quad x-1 \leq -2 \quad x \leq -1$
 $x \geq 3 \quad 2(-1)^2 - b = a + 2(-1) \quad 2 + 2 = a + b = 4$

$x^2 \neq 0 \rightarrow \frac{b}{-b+a} = \frac{a}{-b+a} \quad b+a = \frac{-(-b)}{-1} = -b \quad ab = -a \cdot b = -1$
 $-1+a = 1 \quad a = 2 \quad a+b = 2+(-1) = 1$

$DC = (-\infty, 2) \rightarrow ax^2 + bx + c$
 $3a + (-3|b|) = 3(6) + (-2b) - 11(-b) = b$

الف $|x| \neq [2] \quad DF = \mathbb{R}^+(-\infty, 0)$

ب $f(x) = \sqrt{x} + \sqrt{y} = 9 \quad x_{min} = 0 \quad x_{max} = 81 \quad \text{و } x \in [0, 81] \quad DF = [0, 81]$

الف $f(x) = \sqrt{\log_2 x - 1} \quad x-1 > 0 \quad x-1 \geq 1 \quad x \geq \frac{1}{2} \quad x \geq 0 \quad x \neq 1$

$\log_2 x - 1 \geq 0 \quad x-1 \geq 1 \quad x \geq \frac{1}{2} \quad I \cap II \cap III \rightarrow DF = [\frac{1}{2}, +\infty)$
 ب $f(x) = \log \frac{1}{4+|x|-|x|} \quad 4+|x|-|x| > 0 \quad \sqrt{|x|} = 6 \quad -x^2 + x + 4 > 0$

$x^2 - x - 4 < 0 \quad \frac{-1 \pm \sqrt{1+16}}{2} \in (-2, 3) \quad \sqrt{|x|} > 0 \quad \sqrt{|x|} < 3 \quad 0 < |x| < 9$

$x \neq 0$
 $[-3, 3] \cap (-2, 3) \cap (0, 9) = (-2, 3) \setminus \{0\}$

$$\frac{x^2 + x + a^2 + ab}{x+b} \geq 0 \quad \frac{x(x+a) + x+ab}{x+b} \geq 0$$

-7

$$x+b \neq 0 \rightarrow$$

مخرج صفر نشود

$$b = -x \quad \text{و چون } x \text{ بی نهایت می شود}$$

$$x+a=0 \rightarrow a=-x$$

در این صورت نامبر

صفر و نامبر صفر

$$\frac{x^2(1+x^2+1+x^2+1)}{(x^2+1)^2} = \frac{x^2(x^2+1)^2}{(x^2+1)^2} = \frac{x^2}{(x^2+1)}$$

-9

$$Df \Rightarrow x^2+1 \neq 0 \quad x^2 \neq -1 \quad x \neq \pm \frac{1}{x} \quad Df = \mathbb{R} - \left\{ \pm \frac{1}{x} \right\}$$

$$1 - \log(x-a) \geq 0 \quad 1 \geq \log_{10} x-a \quad 10 \geq x-a \quad \frac{10+a}{x} \geq x$$

-10

$$x-a > 0 \quad x > \frac{a}{x} \quad \frac{a}{x} = b \quad \frac{10+a}{x} = c$$

$$\frac{10+a}{x} - \frac{a}{x} = \frac{10}{x} = c$$